Murray Dahl Beery & Renaud LLP

Attorneys at Law 710 Kipling Street, Suite 300 Lakewood, CO 80215

Ph:303-493-6670

Fax:

May 3, 2019

City of Salida The Touber Building 448 E First Street, Suite 112 Salida, CO 81201

Attention:

P. T. Wood, Mayor

Matter #:

17-269

Inv #:

15205

RE: General Counsel

DATE	DESCRIPTION	ATTY	RATE	HOURS	AMOUNT
Apr-01-19	Develop fact sheet in connection w Admin 6 mo review; review revised CORA policy	GTW	\$200.00	1.00	200.00
	Conf call w Employers Council consultant re final summary of Nelson performance evaluation and general status of council interviews and process; review and analyze final summary for 4/2 council meeting and public disclosure of same; conf w G. Wilson re same; conf w PT Wood re same; follow up correspondence w Employers Council consultant re same	NPW	\$170.00	1.50	255.00
	Conf call w D. Nelson and S. Walter re marijuana licensing ordinance in preparation of tonight's work study session	NPW	\$170.00	0.25	42.50
	Confidential conference call w title company and confidential conference call with attorney for property owner re certain potential disputes and issues; follow up correspondence for same with same; answer many follow up legal and factual questions re same; negotiation of resolution of same	NPW	\$170.00	1.25	212.50
	Correspondence w M. Varnum re franchise agreement and status and strategy re same; prepare G. Wilson on certain issues and with documents for	NPW	\$170.00	1.75	297.50

GTW

NPW

NPW

NPW

\$200.00

\$170.00

\$170.00

\$170.00

3.00

0.50

1.25

1.50

600.00

85.00

212.50

255.00

4/2 City Council meeting; conf w PT Wood and D. Nelson re confidential property and right of way issue and negotiations and proposed license agreement re same and proposed executive session necessary for same; research liquor license issue; advise S. Walter re same; follow up correspondence re same; conf w G. Wilson re issues concerning Nelson employment contract and Nelson performance evaluation as well as for property information for confidential executive session; correspondence w J. Critelli re Nelson performance evaluation, details and questions concerning same and correspondence w resident and explanation of same; amend confidential memo to council re six month evaluation; conf w G. VanNimwegen re LeBaron settlement agreement prepare for e-session; review Admin

Apr-02-19

prepare for e-session, review Autilin
eval.; attend City Council meeting
Conf call w M. Varnum re important
parts of CCT contract and negotiation of
same and analysis of same and
recommended changes of same in
preparation of Thursday's conference
call w CCT negotiating ROW agreement
Correspondence w CIRSA attorney re
personnel; conf w G. Wilson re city
council meeting and questions arising
concerning Nelson performance
evaluation and required language in
employment contract; review language
re LeBaron agreement for council
meeting; advise G. VanNimwegen and
G. Wilson re same; conf w S. Walter re
fee schedule adoption; conf w S. Walter
re CORA questions; general
correspondence w staff
Correspondence W. C. Proven Voyacile

Apr-03-19

Correspondence w C. Brown-Kovacik re confidential resolution of legal contractual and property issue; conf w accounting staff to determine factual resolution of billing for same; conf w D. Nelson and G. Wilson re same; correspondence and negotiation w

Invoice #:	15205	Page 3			May	3, 2019
	_	or property owner w inten me; follow up em ails and me				
	Nelson six correspond answer follows for conf w G. CORA requested response; a issues; corresponse; a issues; corresponse; and varnum of way agree of same; and draft same; LeBaron aganalysis of same; answer same; conf G. VanNim Annexation	dence w Mountain Mail is month review; lence w City Council re so low up questions re same Wilson re same; review uest and advise S. Walter re legal respondence w D. Lady as a and D. Nelson re CCT is eement and negotiating to allow two agreements to generate and discussion changes and final draft for follow up questions re w D. Nelson re same; ad twegen re Anglers Ridge in agreement; follow up ence and questions re same	same; e; re and right erms en re and for e lvise	V \$170.00	1.75	297.50
Apr-04-19	property an executive s analysis of electronic r	Nelson re confidential ad contract issue and ession necessary for sam issues for same; confident nemo re same; general ence w staff		V \$170.00	0.75	127.50
Apr-05-19	of way agre amendment version for	cement and terms, and tof same and draft of fin same; conf w various sta of finalize same for 4/16 cenda	al aff	¥ \$170.00	1.50	255.00
	in CCT RO and final dr parking lot; Nelson with issues for sanalysis; ad request and necessary re former treat confidential conf w acces same; draft for property	Lady re: language for tend W agreement for negotial aft of same; review leases analyze same; advise Dan recommended changes ame and with summary of livise S. Walter re CORA response to same and edaction for same; conf we surer of NRCDC re Il property and contract is puntant re same; analysis electronic memo to attory owner re discoveries and same and negotiation for	ation e for and of sue; of eney d	\$170.00	3.50	595.00

Invoice #:	15205	Page	e 4			May 3,	2019
Apr-08-19	same; draft and same in City's attorney	e proposed agreed recommend of the interest; negot A policy transm	changes for iate same w	GTW	\$200.00	0.50	100.00
1.41 00 15	for SW	C 1			\$200.00	0.50	100.00
	assignments a materials/doc 4/16 City Cou Walter re mar ordinance; dra memo for san packet; follow same; conf w agreement and packet and pro of presentatio	of outstanding and uments/memos ancil meeting; cijuana business aft, edit and finate for 4/16 City up correspond staff re CCT Red materials need eparation and con for same; meestanding legal and contact and	conf w S. conf w	NPW	\$170.00	1.25	212.50
	confidential p conf w other s conf w C. Bro institutional k same; negotia property own agreement for agreement, an same, and step	roperty and corstaff members from Kovacic for nowledge concition w attorney er re same and or same; analysis d recommender is necessary to ecutive session	of terms in d edits to authorize	NPW	\$170.00	1.50	255.00
Apr-09-19	research SMC Walter and rec same; follow same; conf w introductory n packet re CCT	nalyze STR ren for same; advi commend chang up corresponde G. Wilson re sa nemo for 4/16 of ROW agreem M. Varnum re s	se S. ges for nce re ume; draft city council ent; conf w	NPW	\$170.00	1.00	170.00
	employment a consideration	with options und greement upon of performance il; conf w Mayo son re same	evaluation	NPW	\$170.00	1.00	170.00
Apr-10-19	member re co contract issue	ce w accountan nfidential prope ; conf w city ac D. Nelson re co	erty and counting re	NPW	\$170.00	0.75	127.50

Invoice #:	15205	Pa	ge 5				May 3,	2019
	property of of same; for Research of organization and role of memo to of Wilson recorrespond correspond reference open memory wilson reference open memory wilson reference open memory of the property of the	orrespondence we where re same and ollow up em ails city code and state onal structure of f mayor and cours council re same; follow up dence re same; dence we city coursetings question; same; research so ob descriptions for the same of the same o	I negoti re same e statutor cil; drai conf w C acil men conf w	ation e re y city ft G. mber G.	NPW	\$170.00	3.25	552.50
	positions; same; plan implement up legal qu	make recommen procedure and ation re same; ar nestions re same; dence w S. Walte	dations:	re				
Apr-11-19	Review an correspond same; conficity staff m of obtaining w CIRSA a same; confito council administrate re same; co	d analyze CCRD dence w CIRSA a f w G. Wilson re nember re same; ag documents and attorney and city ference calls re sa re consideration tor review; conf prrespondence w e confidential pro-	packet; ttorney same; co coordina inform staff for me; me of city w G. Wi staff	re onf w ation nation r emo	NPW	\$170.00	1.25	212.50
Apr-12-19	Kloster and Counc		o to Ma		GTW	\$200.00	1.00	200.00
	Nelson em council me members re same; draft ROW agree	nalize memo re of ployment contractering; conf w context esame; conf w Context resolution appropriate appropriate re same and gerials	et for 5/ ancil . Wilso eving Co . Varnu	7 city on re CT m	NPW	\$170.00	0.75	127.50
	CCRD pac letter and of questions a advise reco preservation attorney; for	dence w CIRSA a ket, electronic prother legal and lo and issues to respords custodian re an letter form CII ollow up question assame; conf w G	eservati gistical ond to s electror LSA as w atto	ion same; nic orney	NPW	\$170.00	1.25	212.50

Invoice #:	15205	Page 6				May 3, 20)19
	same and add for same	vising council and m	nemo				
	property owr corresponder	oondence w attorney her; follow up hee w negotiation of ial property and con-	same	NPW	\$170.00	0.50	85.00
Apr-15-19	regarding relations relati	cerned community le eased document and ticle; conf w PT Wo G. Wilson re same; same; review and ar ewspaper article cond is performance evalu- tions from concerned bers and staff re sam memo to PT Wood re utline of process and 4/16 council meeting same; conf w G. Will e and research issues correspondence w mmunity leader.	ood re conf w nalyze cerning uation; d ne; draft e same d g and lson re	NPW	\$170.00	3.50	595.00
Apr-16-19	discuss agend CORA policy	la w SW; respond to	q re	GTW	\$200.00	0.50	100.00
	Walter on san corresponden meeting and le corresponden response to comments for research and san corresponden and san corresponden meeting to comment for research and san correspondent meeting to comment for the correspondent meeting to correspond meeting to correspondent meeting to	ution; edit same; adv ne and follow up ce re tonight's counce egal questions; ce w CIRSA attorne laim; coordinate w s same; analyze claim review issues concer G. Wilson re same.	cil ey re staff for m and rning	NPW	\$170.00	1.75	297.50
Apr-17-19	information in S. Walter re s same; review same; respondinguires re sa for same; review employment a documentation resources staffor same; con and outline ar	of documents and leeded for response; ame; conf w D.Nelso and analyze and out d to follow up legal me; strategize and reliew and analyze and personnel n for same; conf w left for same; and direct f w S. Walter; legal analysis in electronic conf w CIRSA attornations.	son re tline esearch human ct staff advice memo	NPW	\$170.00	2.00	340.00

Invoice #:	15205	Page	7			May 3,	2019
	assignmen meeting; c issue; anal	Wilson re question ats arising at 4/16 Ci liscussion of industr lysis and research of	ity Council rial hemp f same	NPW	\$170.00	0.75	127.50
	owner in c property is by attorne accounting allocations	dence w attorney for confidential contract ssue; analyze docum y for same; conf w g staff re bills, stater is of payments for sa and strategize for sam are same	and nent sent ments and me issue;	NPW	\$170.00	0.75	127.50
Apr-18-19	questions presentation meeting; conf w S. response to information CIRSA attequestions the human rese	Walter re CORA por presented at 4/16 Ciresearch for same and on and response for onf w G. Wilson re Walter re CORA required or request; review per n for response; conformey re same; answard for attorney; coordinate ources staff re same re follow up legal que	ty Council d prepare 5/7 same; quest and ersonnel f w ver nate with ; conf w	NPW	\$170.00	1.25	212.50
Apr-19-19	revise e se announcen	ssion motions and nents		GTW	\$200.00	1.00	200.00
	Wilson restreemployre attorney requestions a same; conficoordinate	ate bill re hemp; consame; conf w mayor ment question; conf response and outstand documentation in w human resource same; conf w G. W w D. Nelson.	and staff w CIRSA anding needed for staff to	NPW	\$170.00	1.00	170.00
	documenta another iss property ar same; resea issues and	reements and bills a ation from city staff ue arising around cond contract issue; an arch for same; outling response for same; dence w accounting	to resolve onfidential alyze ne legal follow up	NPW	\$170.00	0.50	85.00
Apr-20-19	documents attorney re correspond Wilson re:	ployment file; analy for same; advise Consume for response; lence w S. Walter and revised internal COnes from council men	IRSA nd G. PRA policy	NPW	\$170.00	1.00	170.00

Invoice #:	15205	Page	: 8			May 3,	2019
	same; revie same	ew correspondence	e and law re				
Apr-22-19	response; c amended re response; c Wilson re s correspond review add information CIRSA atto	Nelson comments conf w CIRSA atto esponse; review are comment on same; same; follow up dence and analysis itional employment in needed for same; orney re same; follources staff re same	rney re: ad analyze conf w G. re same; at conf w ow up with	NPW	\$170.00	2.00	340.00
	for negotia confidentia conf w staf member re	penses and bills an tion and analysis of all property and con if re same; conf we same; analysis of we up corresponder	of tract issue; council contract for	NPW	\$170.00	0.75	127.50
Apr-23-19	legal issues coordination advise D. No required for research and follow up led letter for sandrafting resumeeting references and removations.	G. Wilson re outst and assignments on and analysis of states. Walter regular council mand analyze issue; are egal questions re sume; advise on issue colution for special contracts for pool s; conf w D. Nelson staff for coordinates.	and same; er re notice neeting; nswer ame; draft nes for council n re same;	NPW	\$170.00	1.50	255.00
	organize an recommend additional i correspond	I analyze response of finalize my com led additions and enformation for resence w CIRSA attespondence w D N	ments, edits and ponse; orney re	NPW	\$170.00	1.25	212.50
	council men staff re con contractual	pense and bills; comber; conf w acco fidential property a issue; strategize n resolve same	unting and	NPW	\$170.00	0.75	127.50
	concerning	nd analyze federal chalking tires to e nf w D. Nelson re	nforce	NPW	\$170.00	0.50	85.00

Invoice #:	15205	Page 9			May 3,	2019
Apr-24-19	comment on and	process w J Templeton; d discuss special meeting e meeting proceedures	GTW	\$200.00	1.50	300.00
	resolutions for sadvise re same; same; conf w G electronic memor on notice issues code regarding of meetings; conf whelp staff prepart 4/26; conf w and advise D. Nelso Walter re resoluspecial city cour report on state la concerning same; follow up correspondence			\$170.00	2.50	425.00
	and forthcoming plastics and bag charging fees for Wilson re same; Brown-Kovacic	re same; conf w CML ectronic memo with my alysis and	NPW	\$170.00	2.25	382.50
	conf w numerou about and determ processes to cha and make recom	g enforcement issue; is municipalities to learn nine alternative lking; analyze research mendations to city staff; neys re same; conf w D.	NPW	\$170.00	1.25	212.50
	agreement and c company, city st G. Wilson re find	lyze cable franchise orrespondence w aff and G. Wilson; t/c w alizing same and pany on same and	NPW	\$170.00	0.75	127.50
Apr-25-19	owner concerning and contractual in plan same and for executive session	e company and property ag confidential property issue; analyze same and or discussion at 5/7 n on same; t/c w G. email correspondence me	NPW	\$170.00	1.25	212.50

Invoice #:	15205	Page 10			May 3, 20)19
	Draft resolutions for 4/meeting; advise and as preparation and packet D. Nelson and S. Walte coordinate w staff re sa correspondence re sam issues and questions; cand T. Casey	sist staff with for same; conf w er re same; nme; follow up e and other legal	NPW	\$170.00	0.75	127.50
	Correspondence w char communications; revie last version of contract Wilson re same; prepar Charter Communicatio same. coordination of s	w and analyze; conf w G. The for meeting was to negotiate	NPW	\$170.00	1.25	212.50
	Draft memo to R. John Nelson with analysis of concerning chalking tir parking rules and with recommended procedutechnology moving for legal analysis and reconsame; research and ana articles and correspond	f federal case res to enforce summary of res and ward and with mmendations for lyze subject case, ence re same	NPW	\$170.00	1.00	170.00
	Conf call w CML lobby regulation and prohibit bags and single use platupdates on state legisla draft memo to C. Brow city staff re same; conf same; research city bag recommendations and process to city concerning same	ion of plastic stics and with tion re same; n-Kovacic and w G. Wilson re fees and make provide options	NPW	\$170.00	1.25	212.50
Apr-26-19	Review and analyze CC and corresponding exhi CIRSA attorney re same Wilson re same; conf w same.	bits; conf w e; t/c w G.	NPW	\$170.00	0.50	85.00
Apr-28-19	review CORA requests; CIRSA counse;l re COl certain records	RA treatment of	GTW	\$200.00	1.00	200.00
Apr-29-19	Advise G. VanNimweg to Judd Agreement and city council meeting an at last planning commis answer follow email co same; analyze agreement changes to G. VanNimwe correspondence with Cl Communications re agr	items on for 5/7 d issues arising ssion meeting; rrespondence re nt; recommend wegen; harter	NPW	\$170.00	1.50	255.00

Invoice #:	15205 Pag	ge 11			May	3, 2019
Apr-30-19	City; review agreement; con Wilson re same; conf w staf general advice to city staff a up legal research Review City Code and advi Nimwegen re: variances, co provisions, board of adjustn	fre same; and follow se G. Van de nents	NPW	\$170.00	2.75	467.50
	questions' re same and gene concerning same; review an Buckley-Meadows SIA; adv VanNimwegen re same and preparation of 5/7 City Counfinalize review and analysis agreement and all outstandin documents for 5/7 council no review and analyze dog park amendment; advise D. Nelso recommendations and analy t/c w G. Wilson re outstanding issues and 5/7 City Council	d analyze vise G. in ncil meeting; of Judd ng neeting; c lease on with my sis of same; ng legal meeting				
	Correspondence w title com confidential property and co conf w attorney for property same; conf w G. Wilson re s and analyze confidential doc concerning same; strategize resolution and negotiation	ntract issue; owner re same; review cuments	NPW	\$170.00	0.75	127.50
	T/c w G. Wilson re CORA reother legal issues; advise S. response to CORA request; a Walter re: marijuana license issue; conf w D. Nelson and re same and other minor legand issues	Walter re advise S. transfer G. Wilson	NPW	\$170.00	0.50	85.00
	Totals				75.00	\$13,035.00
DISBURSEM	IENTS					
Apr-30-19	April Prints/Copies 250 @ 0. April Prints/Copies (color) 1 4/2/19 G. Wilson Roundtrip to to Salida 248 @ 0.58	@ 0.50	n		.00 .50 .84	

Totals

\$169.34

Invoice #: 15205 Page 12 May 3, 2019

Total Fee & Disbursements

Previous Balance
Previous Payments

16,852.06

Balance Now Due

\$13,204.34

TAX ID Number 20-1943771

TIMEKEEPER LIST

GTW Geoffrey T. Wilson Associate
NPW Nina P. Williams Associate